Cép-y.r‘ight © Glencoe/McGraw-Hill, a division of The McGraw-Hill Companies, inc.

AME KQM/

i DATE PERIOD
Chapté’ 8 Quiz 1 SCORE
(Lessons 8—1 and 8-2) s
or Questions 1-4, simplify each expression. 8)(:
12a%n 62705 $>—-6x+8 . x2—4 '
* 2%t 92 2. 8x~12 2 +bx+6 1 Q
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5. MULTIPLE CHOICE For what value(s) of x is the e
2 _ _ P
expression %1%_%6— undefined? 4 5
A.-52 B.0,25 C -2 D.0,2 E. -5 -2 5 E
: . 243
Find th: LCI;I of ea;ch set of polynomials. 6. Lo(CDL b
2 _ - .
6. 1202, 15b3, 20ab 7. 522 - 20, 3% + 6 7. (DX ;1\'(&,,2;2)
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8. 22— B+ 1,22+ 7t — 4 8. (- Dt Y 4+4
Simplify each expression. M
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Chapter 8 Quiz 2

(Lesson 8—3)

or 'Q.ixestions 1-4, determine the equations of any

vertical asymptotes and the values of x for any holes
in the graph of each rational function.

_ 3 . x+3
l.ﬂx)—m 2'ﬂx)__x_2+2x~—3
2 — 2.3
8. fln) = =2 4 ) = T3
5. Graph flx) = e
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Chapter 8 Quiz 4

(Lesson 8-6)

For Questions 1-4, solve each equation or inequality.

PR 10

3.3+2=8 3t ., _ & 3-;(;\:2
LT :

t
4. -5 -9 2tt2=8 .. MN-= __Z;—
€2

5. NUMBER THEORY The ratio of two less than a number {
to six more than that number is 2 to 3. Find the number, 5.
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= NAME DATE PERIOD

Chapter 8 Mid-Chapter Test SCORE

(Lessons 8~1 through 8—4)

Write the letter for the correct answer in the blank at the right of each question.

1. For what value(s) of x is the expression zxi—’g(—;ﬁ_% undefined?

A —4,9 B. -4,-3,0,3 C.-4,0,3,9 D. —4,-3,3 1 D

For Questions 2-5, simplify each expression.

9 W21 1-2
T2%y-1 3y-—-1

F. -3y-1 G. 3y +1 H -3y +1 J. 3y —1

3 2—¢c—20 . 216
‘eP—6c+5  3¢-3

3 3 c+4 c—4
A.c__4 B.~—c+4 C. 3 D. 3
3m?2—12
4 4m? + 8m
" Tem—12
8m? + 16m ;
F 9m — 2) G m(m? — 4) H om+92 J 4m + 2) 4 ’l’
' 16m2%(m + 2) ' m-2 : : 3 :
i3 ,. 3
5. 5 4w + 10w
4w — 21 4w -9 1 1 ! ?
A. 20w B. 20w C. 20w D. 4w 5.
Part II W
- =1 (XD X=X K~ )
6. Simplify pe e lw; S veprr 2 6. S L'f
. % 4
For Questions 7 and 8, find the LCM for each set 1. 7& S -tj
of polynomials. 8 & | (3¢ —5 \
’ = 7
7. 12s3, 1852, 24¢* 8. 9¢c — 15, 21c — 35

o\/. B x=Y) Holes x=-3

9. Determine the equations of any vertical asymptotes and the

%43 10, T 19 1]
values of x for any holes in the graph of Ax) = pop— 7
10. Graph flx) = (7143);; \
\
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